BbixoaHOH JyueBOH TETPOX
Output beam tetrode

BuixomgHoit Jydesoil Terpox 6I120C mpennasna-
yeH MJIst paGOTBl B BBIXOAHBIX KacKajax CTPOUHOI
pa3BepTKH B NpPHeMHHKAaX LBETHOTO TEJIEBH/CHHUI.

Buixonnbie Jayuesble Terporas 6I120C suimycka-
JOTCSI B CTeKJSHHOM O(hOPMJEHHH € OKTAJIbHBIM ILO-
KOJEM, C OKCHIHBIM KATOAOM KOCBEHHOrO HakaJja.

Brixoasble ayueBbie TeTpoiasi 6I120C yeroituuB
K BO3/efiCTBHIO OKpy¥Katollell TemnepaTyphl oT —60
10 + 70°C u oTHOcHTeNbHOH BiaxuocTH 95—98%
npu remnepatype +20°C, a Takxe K BO3IEHCTBHIO
MexXaHHUEeCKHX Harpy3OK: BHOPalHOHHBIX 10 2,5 &,
yILapHbIX MHOTOKpaTHBIX 10 12 g.

HauGoabinuii Bec 75 é.

[apanTupoBannas ao0aroBeuHocTh 500 4Yacos.

61120C

The 6I120C output beam tetrode is designed for
operation in line scanning output stages of color
television receivers.

The 6I120C output beam tetrodes are enclosed
in glass bulb and are provided with an octal base
and an indirectly heated oxide-coated cathode.

The 6I120C output beam tetrodes are resistant
to ambient temperature from —60 to +70°C and
relative humidity of 95 to 989% at +20°C, as well
as to mechanical loads: vibration loads up to 2.5 g
and multiple impact loads up to 12 g.

Maximum weight: 75 gr.

Service life guarantee: 500 hr.

SJEKTPUYECKHUE JAHHBIE
ELECTRICAL CHARACTERISTICS

U, 63V U, —30V S 85%25mA/V
I, 25+025A I, 90x32mA R, 7k
U, 175V I, <10mA R, !) 150 Q

1y JIJst aBTOMATHUYECKOI'O CMELIEHHS.

For self-bias.

MEXJY3JEKTPORHBIE EMKOCTH
INTERELECTRODE CAPACITANCES

Cglk
Cak
C

gla

22,5 pF
10 pF
0,8 pF

NPEAEJABHO NONYCTUMbIE 3KCIJIYATALHOHHBIE JAHHBIE
MAXIMUM AND MINIMUM PERMISSIBLE RATINGS

Max Min
Uy 69V
U, 450 V
U, imp ) +68kV
U, tmp 2y —15kV
U, 700V
Ug2 200V
Ug2 ) 700V

57V

Max
Uy ~50 V
Ugiimp —200V
P, 27 W
Py, 36 W
L4 200 mA
U5 200V
TGaJMOHa 200°C

bulb

1) TIpn << 12 ©s, ferp, passeprin << 16 kHz
At <12 ps, fooag < 16 kHz

2) TTpn 1,=0.
At 1, =0.

%) IMpu xouonHOIl JaMIe.

With cold tube.

4) CpenHee 3Ha4YeHHe,
Average value.

5) ITuxkoBoe 3HaueHHe.
Peak value.
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